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In this example 
Mg is __________.
O is ___________.
Mg is a ______l
O is a _____-metal.
Mg has ___ electrons in its outer shell.
O has ___ electrons in its outer shell.
Mg will give up or t________ its electron to ______.
On the top diagram…
1. What do the 2 arrows show is moving?
2. On the bottom diagram what has happened to the 2 electrons from magnesium?
3. Why do you think that Mg has a 2+ charge and O has a 2- charge?
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Describe what happens when a lithium atom reacts with a chiorine atom

Answer in terms of electrons.
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Magnesium chloride contains magnesium ions (Mg**) and chloride ions (CI-).

Describe, in terms of electrons, what happens when a magnesium atom reacts with
chiorine atoms to produce magnesium chioride.
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‘The diagram shows an atom of magnesium and an atom of chiorine.
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Describe, in terms of electrons, how magnesium atoms and chlorine atoms change into

fons to produce magnesium chioride (MgCl,).
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Lithium reacts with chlorine to produce lithium chloride.

When lithium atoms and chlorine atoms react to produce lithium chloride, lithium ions and
chloride ions are formed.

The diagram shows the electronic structures of the atoms and ions,
The symbols o and x are used to represent electrons.
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